WD TVRID'T YR YR Q°opw noon MIA AT TINHH 1y B

4a.3.2
9a (1 mwn) 2> 9b (p7977 D1D)

2,0 477700 VYYD DR 1PN NN NRY TYIN DR NR) YIPD NR 1990 199

n,2 87777 101 109D PZY 1931 IRYNY TR NZYY TR MY 12 NY IR 01N DY NP1 1Y T AT RYAN KD OR)

2,10 X777 19KV 712 NRNVN IWTRY 11001 DINYS YAV 1YA¥RA DT 10 VY MM

w, 22 per: DRITI 22 NINNYY LAY MY NINNY M YA RIT NRY 11DYR WITRY DI DY WiTR) 7Y 190 RY)) D7 IR 1D 7D
7,2 5w :07N) TI22) WYY N DR MY 2pY

5,00 50 : 0PN NN ONIND D) HY AP MY IR PTONY 13102 PI2T IR
7,15 o8pr 1 DRI PTVOYY YHN2T N IN 2 DHYTY DINNTR %Y DINR *HNIN DNV DI M1 D01
22,2 o850 :R7IM) DITIN N DY RI219Y X230 POR NR DI NYY 1IIR NN

L. » mwn: more on the protocol
a. 177 when his agent would come in with the 5pw, he would hold it visibly (to erase suspicion, per above)
i.  Then: he would push his coin ahead and it would be placed in the nap (so that it wouldn’t be n»w)
ii.  Question: wouldn’t his coin be included in the nmyan in any case?
1. Answer: it brought 3™ pleasure to know that his coin was used first for 11a¥n nap
b. Procedure: the one taking nm n would ask the supervisors —“20yInR” and they would answer "n1In” 3 times
II. 7 mwn (in printed editions — continuation of 3 NWn): more on procedure
a. After: the 1st and 2" mmyan (prior to noa and myaw respectively), he would cover rest of 0'9pw with leather
i.  But: not after 37 hmyn
ii.  Reason: so that he doesn’t take nmn (at 2" or 3" time) from that which was already pim
1. Note: once the cover was lifted (after 3r4 nmAn) everything left in N2w% became n»w
b. mmrim each was done on behalf of a different community
i.  First: for Y87 pIR (Xn>11 — and on behalf of Y87’ ny living in other regions — also at 24 and 3+9)
ii.  Second: on behalf of neighboring countries
iii.  Third: on behalf of Y11, Medea and more distant regions
1. Note: this final nmn was the “richest” — it had gold coins, which were sent due to distance from Y22
c. Nz if there were still 5pw from the first nn1In when they got to n¥y v1a — they would take nnyn anyways
i.  And: when 3" ran out, they went back to 2"d and then 1+
ii. ~ When: all 3 were done, they would take a new collection (or, they would take nn1In from nawbn »»v)
iii. ~ »”r they would go back to the o» 1w
1. Reason: n™ holds that n%yn attaches to 0»v, since they may need it at the end
a. Inference: »1»w used for Max nap
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